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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 a 1514 3.7 1.4 6 60.9 99.8
1 b 1507 4.2 1.2 6 70.6 99.3
1 c 1483 7.2 2.4 12 60 97.8
1 d 1450 5.7 3 12 47.1 95.6
1 e 1469 7.2 2.9 14 51.1 96.8
2 a 975 5.2 2.4 10 51.9 64.3
2 b 1022 9.7 3.3 20 48.4 67.4
3 a 364 5.4 1.8 10 53.9 24
3 b 356 8.4 4.2 20 42.1 23.5
4 a 105 3.7 3 10 36.9 6.9
4 b 136 9.4 3.9 20 47.1 9
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A Level Business Unit 4

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (d) “Multinational car manufacturers only have a positive impact on the UK”. To what 
extent do you agree with this statement? [12] 


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks 6 marks 


3 


   5-6 marks 
An excellent well-
balanced evaluation of 
the impact of 
multinational car 
manufacturers on the 
UK 
 
The evaluation will focus 
on the key issues 
 
Clear reference to the 
case study and context 
to support their 
argument  
 
Relevant judgements 
are made with qualifying 
statements 


2 


2 marks 
Good knowledge 
and understanding 
of the impact of 
multinational car 
manufacturers on 
the UK 


2 marks 
Good application to 
multinational car 
manufacturers and 
the UK 
 
The learner makes 
effective use of the 
data throughout 
their answer  


2 marks 
Good analysis of 
the impact of 
multinational car 
manufacturers on 
the UK 
 
The analysis may 
be unbalanced but 
detailed or 
balanced with 
partially developed 
lines of reasoning 


3-4 marks  
A good evaluation of the 
impact of multinational 
car manufacturers on 
the UK 
 
The evaluation will 
include some of the key 
issues  
 
The learner makes 
partial judgements, with 
some attempt to support 
their evaluation 


1 


1 mark 
Limited knowledge 
and understanding 
of the impact of 
multinational car 
manufacturers on 
the UK 


1 mark 
Limited application 
to multinational car 
manufacturers or 
the UK 
 
The learner 
response is mainly 
theoretical with 
limited use of 
examples from the 
case study 


1 mark 
Limited analysis of 
the impact of 
multinational car 
manufacturers on 
the UK 
 
Superficial analysis 


1-2 marks 
Limited evaluation of the 
impact of multinational 
car manufacturers on 
the UK 
 
Statements may be brief 
or mainly theoretical 
 
Unsupported 
judgements are made 


0 
0 marks  


No valid 
understanding  


0 marks  
No valid application  


0 marks 
No valid analysis  


0 marks  
No valid evaluation  
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Indicative content: 
 
Multinationals are businesses operating in a number of countries, whether extracting 
resources, manufacturing, retailing or a combination of these activities. There is a large 
number of foreign-owned multinationals car companies manufacturing in the UK, including 
Toyota and Ford.  
 
Advantages of having multinationals based in the UK: 
• Multinational companies provide employment and create better living standards for 


local communities. For example, there are 700 000 people employed in the car 
industry within the UK. These will all be earning at least the living wage and will be 
boosting their local economies by spending in businesses within the area. 


• Investment by multinationals also lead to infrastructure developments that improve 
transport links, communication links and help to develop economies across the UK. 


• Multinationals such as Ford and Toyota pay taxes to the government, including 
corporation tax and business rates which are then used to improve public sector 
services and provide capital that the government can use to encourage further inward 
investment. 


• Introduce new technology and working methods. 
• Consumers who have greater choice and much cheaper goods.  
• Increased competition also improves quality. 
• Increased growth in the UK economy (4% GDP) – multiplier effect 
 
Potential disadvantages of multinational companies operating in the UK: 
• Multinational companies can severely impact on local industries because they 


increase competition in the economy.  
• They can cause both small and large British businesses to go out of the business, 


leading to increased unemployment – Due to Brexit lots of multinationals including 
Ford have threatened to cease production in the UK which will cost 1 000s of jobs. 


• Multinationals have been accused of destroying local culture. Having recognisable 
'superbrands' will inevitably lead to a loss of localised products and a shift in habits. 


• They may have negative environmental impacts, such as pollution, noise, congestion 
and destruction of the environment – this is particular problem with car manufacturers. 


 
From the UK’s point of view, it needs investment from multinationals to help drive growth 
and create jobs. In fact, the UK has received more investment from multinationals over the 
last 30 years than Germany, France and Italy combined, thus creating thousands of jobs 
and reinvigorating domestic supply chains. Whether such investment will continue, 
following the UK’s decision to leave the EU remains to be seen. 
 
Credit any other valid argument. 
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Sticky Note

The first sentence is irrelevant because the question is about the impact of multinational companies on the UK and it outlines a benefit to the business of being a multinational company.  Therefore, no marks could be awarded.









Sticky Note

This is further development of the first point which again emphasises the benefit to the business of being a multinational company as opposed to the UK.  Therefore, there is nothing in this paragraph that can be credited with marks.






Sticky Note

Further development of the benefit of increasing the brand awareness as a result of being a multinational company - this is again linked to the business and not the UK.  No marks could be awarded.




Sticky Note

There is some implied knowledge in this paragraph because if multinational companies leave the UK, then it would result in lost revenue to the government (money in this answer).  However, there is not analysis in terms of how the government would lose revenue as in lower tax income from employees and/or the company.  As a result, 1 AO1 mark was awarded for this paragraph.
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Sticky Note

There is no relevant point or chain of reasoning in this paragraph, therefore no marks were awarded.

Overall, this response achieved 1 of the 12 marks available.  The main issue with this response is that it was related to the benefit to the business as opposed to the UK, which does not answer the question and could not be credited with any marks.















Sticky Note

In this first sentence, the response has demonstrated knowledge of the benefit of multinational companies on the UK in terms of providing jobs, there is application by referencing the amount of jobs from the case study and there is a judgement by suggesting that this is a positive impact on the UK.  Therefore, the response has accessed AO1, AO2 and AO4.  Unfortunately, there is not AO3 because there is no reasoning to explain the benefit of providing jobs e.g. increased government revenue through taxation or reduced government spending on benefit payments.






Sticky Note

This is a valid point which implies that consumers have greater choice.  This demonstrates further knowledge of the benefits of multinational companies to the UK, accessing AO1.
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Sticky Note

Whilst this shows balance to the argument because the candidate is attempting to give a counter argument and explain why multinational companies do not benefit the UK.  The point is not relevant and does not illustrate a negative impact of multinational companies on the UK.  Therefore, the point does not meet the mark scheme criteria and no marks were awarded.





Sticky Note

This is a relevant counter argument.  Multinational companies will provide competition to UK car manufactirers.  Unfortunately, the analysis is limited with reference to market share.  Nevertheless, AO1, AO3 and A04 is accessed in this paragraph because there is evidence of knowledge, limited analysis and limited evaluation by providing balance to the response.






Sticky Note

A summary of the key points in the conclusion to demonstrate understanding of the impact of multinational companies on the UK.

Overall, this response illustrates good knowledge and understanding, limited application, analysis and evaluation.

5 marks were awarded out of 12, with 2 AO1, 1 AO2, 1 AO3 and 1 AO4.














Sticky Note

This paragraph demonstrates knowledge of a benefit of multinational companies to the UK economy.  The suggestion that they provide jobs allows the response to access AO1 marks.  

The valid point is also applied to the case study with reference to the amount of jobs generated by car manufacturers in the UK and it is developed with a chain of reasoning - 'leads to less drain on the government for benefits'.  Therefore, this paragraph also allows the response to access A02 and AO3.






Sticky Note

Applied knowledge is evident in this paragraph.  The data from the case study is used to provide a chain of reasoning for another benefit of multinational companies to the UK economy.  Further evidence of AO2 and AO3.





Sticky Note

A valid point which demonstrates knowledge of the negative impact multinational companies will have on the UK economy - they will provide competition for UK based businesses.  This provides balance to the response, a requirement of AO4.
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Sticky Note

There is clear evidence of analysis as to why multinational companies create competition for UK businesses.  There is good use of terminology which comes from AS Business in Unit 2 - Economies of Scale and this concept has been used to provide a reasoned analysis of the negative impact multinational companies may have on UK based businesses.  

This paragraph provides evidence to allow the response to access all 4 assessment objectives - AO1, AO2, AO3 and AO4.





Sticky Note

A counter argument to the negative impact of competition.  This is a relevant positive impact - suggesting that customers will have more choice, better quality and competitively priced products as a result of competition.  

This paragraph provides even more balance to the response and clearly illustrates knowledge and understanding, analysis and evaluation. 






Sticky Note

This is a valid negative point about the impact of multinational companies on the UK.  These companies have been accused of negatively affecting the environment in terms of pollution.  However, this point has not been developed in detail and lacks application and analysis.





Sticky Note

This conclusion summarises the key point and makes an overall judgement that multinational companies mostly benefit the UK.

Overall, this response achieved 11 of the 12 marks available.  The response is well written and there are 3 benefits and at least 1 drawback identified with application to the case study, clear chains of argument/reasoning and judgments made.

The response did not achieve full marks for AO4 (evaluation) because the response was slightly one-sided with only one drawback fully analysed.

The response achieved 2 AO1, 2 AO2, 2 AO3 and 5 AO4.  
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90


a)	 Analyse why risk management is important to car manufacturers.  [6] 


b)	 Explain how car manufacturers are responding to environmental issues. [6]


c)	 Using both qualitative and quantitative data, evaluate Ford’s plan to launch 15 
models of electric vehicles in China by 2025.	 [12]


d) “Multinational car manufacturers only have a positive impact on the UK.” To what
extent do you agree with this statement?	 [12]


e)	 Consider the potential impact of changing economic, legal and technological 
factors on car manufacturers and their customers. [14]


Manufacturers are also now producing cars that do not require a driver. For example, Tesla’s 
2015 models are already 90% self-drivable according to founder Elon Musk and the company 
continues to spend large sums of capital on research and development. Large manufacturers 
such as Ford and Volkswagen are concerned that technology companies including Google 
and Apple, with advanced levels of knowledge and innovation within the technological industry, 
may be able to enter the car industry, leading to even more competition.  


Turn over.


1
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3 (b) “Private sector businesses are able to provide consumers with everything they 
require. There is very little need for government involvement in business. To 
what extent do you agree with this statement? [20] 


Band 
AO1 AO3 AO4 


4 marks 8 marks 8 marks 


3 


 6-8 marks 
The learner gives an 
excellent analysis of the 
importance of the 
government and private 
sector businesses 
 
The key issues for both 
sides of the debate are 
discussed in detail 
 
The analysis will be well 
balanced, well developed 
and with a clear line of 
argument 


6-8 marks 
The learner presents an 
excellent level of 
evaluation outlining the 
importance of the 
government and private 
sector businesses 
 
The evaluation is 
balanced and detailed and 
will focus on the key 
issues 
 
The evaluation provides a 
broad range of arguments 
on both sides of the 
debate 
 
Clear judgements are 
made with supporting 
statements to build an 
argument 
 
A holistic evaluation may 
be offered with an overall 
conclusion 


2 


3-4 marks 
The learner shows good 
understanding of the 
importance of the 
government and private 
sector businesses 


3-5 marks 
The learner gives a good 
level of analysis of the 
importance of the 
government and/or private 
sector businesses 
 
A number of key issues 
are analysed 
 
The analysis may be 
uneven, with some well-
developed ideas and 
others where the 
development is more 
limited 


3-5 marks 
The learner presents a 
good level of evaluation 
outlining the importance of 
the government and/or 
private sector businesses  
 
The evaluation will include 
most of the key issues 
 
Judgments are made with 
some attempt to support 
statements and build 
arguments 
 
A brief conclusion will be 
offered  
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1 


1-2 marks 
The learner shows limited 
understanding of 
importance of the 
government and/or private 
sector businesses. 


1-2 marks 
The learner gives a limited 
analysis of the importance 
of the government and/or 
private sector businesses. 
 
A limited number of issues 
are analysed 
 
The analysis may focus 
on one side of the 
argument 


1-2 marks 
The learner presents a 
limited evaluation outlining 
the importance of the 
government and/or private 
sector businesses. 
 
The evaluation will include 
some of the key issues 
but with limited 
development 
 
Judgements are 
superficial and 
unsupported 
 
Evaluation will be uneven 
and focus on one side of 
the argument 
 
Evaluation tends to be 
asserted rather than 
explained 


0 0 marks 
No valid understanding 


0 marks 
No valid analysis 


0 marks 
No valid evaluation 


 
Indicative content: 
 
Arguments against statement/arguments for government involvement:  
• Mention of the role of the state in providing public goods, which, because they are non-


consumable and the exclusion principle does not apply, cannot be provided by the 
private sector, e.g., street lighting and lighthouses.  


• Merit goods which the market would not produce in sufficient quantities or at a price that 
many people could afford, e.g., health and education, also such things as refuse disposal 
and the building of roads, all of which are most efficiently paid for from taxation 
revenues.  


• Some demerit goods need to be discouraged which requires the government to 
intervene in the economy, either to ban products or to make them more expensive 
through the use of excise duties. 


• Involvement to achieve a more equitable distribution of income e.g. via taxation and state 
benefits. 


• Setting minimum wages to help ensure people achieve a minimum standard of living.  
• Some industries are natural monopolies, e.g. railways and water supply and they benefit 


from economies of scale, which can be passed onto the consumer. These industries 
need either to be provided by or regulated by the government. Wherever there is a 
degree of monopoly power, private industries need to be regulated in order to protect 
consumers.  


• Consumers also need protection against other unfair or illegal practices, e.g., weights 
and measures, health and safety, etc.  


• Macroeconomic arguments – involvement to achieve macroeconomic objectives  
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Arguments for statement/arguments against government involvement:  
• State run industries tend to be inefficient as they are not driven by the profit motive.  
• Private companies respond to consumer demand, since, by giving people what they 


want the businesses are likely to increase their profits.  
• State run enterprises tend to be product orientated and limit consumer choice.  
• The less government involvement the more the market is free to work and decisions 


about what to produce for whom and in what quantities is left to market forces.  
• Often there is under-investment in state run industries.  
• There may be political interference which can affect the efficient running of the 


businesses.  
 
Generally speaking, most commentators believe that the private sector is more efficient at 
producing goods and services, other than merit and public goods, but that it needs to be 
regulated in order to protect consumers, especially where there is a risk of monopoly power. 
  
Credit any other valid point. 
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Sticky Note

The point raised in this paragraph is relevant in terms of suggesting that private sector businesses can meet the needs and wants of customers.  However, the analysis is vague and there is no evidence of evaluation.  The chains of argument are not clear and there are no accurate judgements.





Sticky Note

An additional point that may be relevant - private sector businesses have the finance to fund themselves and produce/provide goods or services.  However, the analysis is weak and does not provide the reasoning required to provide a positive argument to explain why government intervention is not required within the UK.










3



Sticky Note

The counter argument provided is not accurate.  Government intervention is required to protect consumers and employees against exploitative actions such as high prices or unsafe goods.  However, this response suggests that it is needed to support businesses if laws are broken such as Data Protection.  Therefore, no marks could be credited for this paragraph.






Sticky Note

The conclusion does not add anything new to the response that could be credited with marks and it reinforces the misconceptions illustrated in the main body of the response.

This response achieved a total of 3 marks out of 20.  Limited knowledge and limited analysis was awarded, with 2 marks for AO1 and 1 mark for AO3.














Business Studies

Sticky Note

An accurate definition of the private sector and the public sector - providing a definition of the key term or concept in the question is always a good way to start an extended question such as this.  



Business Studies

Sticky Note

The paragraph illustrates knowledge and understanding of the role of the private sector in meeting the needs and wants of customers and the reason why private sector businesses need to meet these needs and wants.  This is a valid argument in favour of the statement in question 3b and achieves AO1 and AO3 marks.  There is also a judgement which is based on the evidence to achieve AO4 marks.



Business Studies

Sticky Note

A valid counter argument to the statement within the question.  Analysing the importance of the government in providing certain merit goods because some individuals would not be able to pay for them.  There is excellent use of terminology and clear understanding.  The analysis is excellent with lines of reasoning to build the argument and clear judgements are made.  This counter argument also provides balance.

Therefore, AO1, AO3 and AO4 is accessed and the arguments presented thus far are excellent.







Business Studies

Sticky Note

Another valid argument in favour of government involvement.  The point made is accurate in terms of the need for legislation to prevent customers from exploitation in relation to price.  The analysis provides lines of reasoning by outlining how businesses may be able to exploit customers by dominating the market.

The paragraph accesses AO1, AO3 and AO4.







Business Studies

Sticky Note

This paragraph infers that private sector businesses can bring more benefit to customers than public sector businesses due to efficiency in operations.  This is in the mark scheme 'state run industries tend to be inefficient.'  Therefore, this is a valid argument in favour of private sector businesses / against government intervention and high levels of analysis are evident with excellent use of key terms. 



Business Studies

Sticky Note

A relevant argument in favour of government involvement with reference to legislation.  Whilst legislation has already been used, it adds further weight to the argument because the example relates to quality as opposed to pricing.  This shows detailed knowledge and understanding of the importance of the government and the need for intervention.



Business Studies

Sticky Note

A valid point with reasoning that argues against the need for legislation to ensure good quality goods and services.  This provides more balance and demonstrates excellent levels of evaluation.







17



Business Studies

Sticky Note

Another relevant point in favour of government intervention.  This point has not been analysed but the statement is accurate - knowledge illustrated.



Business Studies

Sticky Note

This is clearly an excellent response with a range of arguments and counter arguments to provide analysis and evaluation that is balanced.  The analysis of most points raised are well developed with reasoning.  The evaluation is focussed and judgements are provided which are in the main, supported by evidence.

This response was awarded 17 marks, with 4 AO1, 7 AO3 and 6 A04.
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SECTION B


Answer one question from this section.


0 2 	 Managing change


a) Describe how Lewin’s three step process could be used to help remove resistance
to change when two competing businesses merge. 	 [10]


b) “Businesses that do not manage change effectively are likely to fail.” Discuss. 	[20]


0 3 	 Private vs public sectors


b) “Private sector businesses are able to provide consumers with everything they
require. There is very little need for government involvement in business”. To what
extent do you agree with this statement?	 [20]


0 4 	 Business functions 


a) Describe how McGregor’s theory X and theory Y could be applied by the
management of a business that designs and manufactures fashionable clothing.


[10]


b) “Investing money into advertising and promotion is often a waste of resources,
whereas money invested in the workforce is always likely to be more beneficial to
a business.” Discuss. [20]


END OF PAPER
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4 (a) Describe how McGregor’s theory X and theory Y could be applied by the 
management of a business that designs and manufactures fashionable 
clothing.   [10] 


Band 
AO1 AO2 


6 marks 4 marks 


3 


5-6 marks 
Excellent understanding of McGregor’s 
theory X and theory Y 
 
The candidate illustrates excellent 
knowledge of how managers could use 
the theory 


 


2 


3-4 marks 
Good understanding of McGregor’s 
theory X and/or theory Y 
 
The candidate illustrates good 
knowledge of how managers could use 
the theory 


3-4 marks 
Good application of how management 
could apply the theory within the fashion 
industry 
 
The candidate clearly identifies examples 
of how it could be applied to the design 
and manufacturing of fashionable 
clothing 


1 


1-2 marks 
Limited understanding of McGregor’s 
theory X and/or theory Y 
 
The candidate illustrates good 
knowledge of how managers could use 
the theory 


1-2 marks 
Limited application of how management 
could apply the theory within the fashion 
industry 
 
The candidate response is mainly 
theoretical with the inclusion of some 
examples of how it could be applied to 
either the design or manufacturing of 
fashionable clothing 


0 0 marks 
No valid understanding 


0 marks 
No valid application 
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Indicative content: 
 
Douglas McGregor put forward the idea that there are two broad types of manager – Theory 
X managers and Theory Y managers. The Theory X type of manager makes several 
assumptions about employees: 
• workers must be supervised or quality and quantity of output will fall 
• workers only respect the type of manager that tells them what to do and does so with 


complete authority 
• money is the only motivator 
• workers do not want to be involved in the decision-making process 
• workers have little ambition. 
 
It is likely that within manufacturing of clothing, Theory X management may be adopted to 
ensure that quality and quantity is sustainable and often financial motivators are used 
including piece rate pay to encourage workers to produce efficiently.   
 
Theory Y managers believe that the reverse is true. They start with several positive 
assumptions about employees: 
• workers cannot be motivated by money alone – they seek more than financial 


satisfaction from their jobs 
• workers are ambitious, willing to train and contribute to improve their chances of 


promotion 
• workers will be more efficient if they are left to their own devices – trust breeds 


responsibility 
• workers want to contribute to improving efficiency – they want to be seen, be noticed, 


rewarded and appreciated when they work well. 
 
It is likely that the designers of clothing with be managed using the Theory Y approach 
because they can be trusted, are highly skilled and can make their own decisions. These 
workers have been and are willing to undertake further training to become the best in their 
field and seek promotion and satisfaction from their work. 
 
Credit any other valid point.  
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Business Studies

Sticky Note

This is a valid point about McGregor Theory X as the manager/leader will be autocratic.  The response accesses AO1 for demonstrating knowledge of the theory.



Business Studies

Sticky Note

Another valid point because it shows knowledge of Theory Y - managers/leaders will involve workers in decisions.  Therefore, further evidence of knowledge to achieve AO1 marks.



Business Studies

Sticky Note

Application of knowledge is evident because Theory X may be used with factory workers by setting targets for production.  Therefore, the response accesses AO2.



Business Studies

Sticky Note

The benefits of the theories are further evidence of knowledge and understanding of McGregor Theory X and Y - particularly Theory Y, with reference to a more motivated workforce.  Therefore, this allows the response to access band 2 for AO1.

Unfortunately, there is no evidence of application because the knowledge has not been used effectively or accurately in relation to manufacturers and fashion designers.  



Business Studies

Sticky Note

This response achieved 4 of the 10 marks available.  There was sufficient evidence of knowledge and understanding of McGregor Theory X and Y to achieve 3 marks for AO1.  However, the application of knowledge was very limited, achieving 1 mark.
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Sticky Note

The start of this response clearly shows that the candidate has knowledge of McGregor Theory X and Y.  The definitions are accurate.  2 AO1 marks are awarded for the accurate definitions.





Sticky Note


Theory X has been outlined in more detail with a description of the need to supervise and offer rewards to workers to ensure that tasks are complete.  This knowledge has been applied accurately by linking this concept to production workers.  This sentence/paragraph allows the response to enter band 2 for AO1 and provides evidence to be awarded AO2 marks.





Sticky Note

This paragraph provides further evidence of knowledge and understanding of McGregor Theory Y.  Outlining the need to provide independence and opportunities for job enlargement will motivate workers and it is something that would be adopted by Theory Y managers.  This allows the response to access band 3 for AO1.

Relating the point about independence to designers does show limited application.  However, it does not go beyond limited application because there is no development of this point and the detail provided about job enlargement is not relevant. 

Overall, this response achieved 7 of the 10 marks available, with 5 AO1 and 2 AO2.
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SECTION B


Answer one question from this section.


0 2 	 Managing change


	 a)	 Describe how Lewin’s three step process could be used to help remove resistance 
to change when two competing businesses merge. 	 [10]


	 b)	 “Businesses that do not manage change effectively are likely to fail.” Discuss. 	[20]


0 3 	 Private vs public sectors


	 a)	 Describe how the aims of the NHS as a public sector organisation differ from the 
aims of BUPA, a private sector healthcare business. 	 [10]


	 b)	 “Private sector businesses are able to provide consumers with everything they 
require. There is very little need for government involvement in business”. To what 
extent do you agree with this statement?	 [20]


0 4 	 Business functions 


	 a)	 Describe how McGregor’s theory X and theory Y could be applied by the 
management of a business that designs and manufactures fashionable clothing.


				   [10]


	 b)	 “Investing money into advertising and promotion is often a waste of resources, 
whereas money invested in the workforce is always likely to be more beneficial to 
a business.” Discuss. 	 [20]


END OF PAPER











